o0 O00Odod #60

24 00O

A BOODODOOOODAODOO OO0 BOODOMDOOOOO
000 fO0000 ADDOOO BOODOO (mapping,map) 0000

f:A—B, 0DoO0O0 ALpB

Doooooo
DacADDDDOO0Obe BOODO fO000 a00 (imarge) 00
O0b=f(e)DODOO0O0OeO fO000 6000 (preimarge) 0 0O
O00«000000000000(0D000000000000)
O00bs00000000000000000000O0D0000
000000000000000000000000 (function)™®
ooooo

0Dz000 f() 000000000 2+ f(2)0000000
D000000000000000000 2000 y= f(r) = a2
OD0D0D00000RODOROOOOOOODDfOO0OxcRO
O0 2200000000

fR — R

J)'—)J)Q

gooog

oot 2.6 0O
(1) 00 f:A—BODODD000O0 ADDOD (domain) O O
00 BOOO (codomain) 00O OO

[ FA) = {fl@)|ac A} = {be B|Fac A b= f(a)}

000 (range) 00000 (image) D000
(2) 00 AOD A0ODDODOOOOOOOOO0O0 eeAD OO
00000000 (identity map) 000 0idy 000 14 00
O00000 (00000Va€ Aidala) = 0000)0
(3)00 f:A—BOOO f(A)=BO0OO00OO0OO0OfO O
O (surjection) 000000000 (ontomap) 0000000

oo0o0000000000000000000000000000000
obooobooboooooboboooooboooooboobooboDbo
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gboboooodgn

[ VoeBdacA b= f(a) )

gooo

4) 00 f: A—BOO0D0 000 a,a2 € AD0DD00ay # as
0000 fla) % flax) 00000f 000 (injection)00 O O
101000 (one-to-onemap) 00 0000000000000

[ \V/(ll,ag cA ai 7&&2 :f(al) #f((@) ]
gdooooooooooodao
[ Val,GQ €A f(al) :f((lg) = a1 = Q2 ]

dbogdbobooboobuoobboboboobuoobobo
Ooooooooon

(5) 00 f:A—BOO000O000O0O0O0O0OOO (bijection)
gooo

(6) o000 f:A—B,g:B—COO0O00A(a)=g(f(a))
O0o00o0bO0Od h:A—CO0ODDOOOODOOODO fO g
00000 (composite mapping) 000 0h =go f 0000
goooo

(7 boooo f:A—BUOyg:C—DOOOOOOOO20
00000000000 f=¢g0000A=COB=D00O

Vae A f(a)=g(a)

gboogoobbodobooobuoobouobbooboo
gooboooogobooo

o000 29 A={1,2}000000000000000O0O A
gbboogobuodboogobuobooobuodboonobuooboo
gbobbooogbobobooogbbboo

0000210 A={1,23}0000000000000000O
AOODO0ODOO0ODOOODOOODOOODOOODOObObODOODbDOO
gbobboogoooboo

0000 (0000000o0ooD)0 ADODCOOOO BOOO
ooboooooobooD f-A—pO0OODOOOOODOODOODO
O000000000000000000(000000ooooo)
goboboboooon

35



obodb 211 NOONOOOOOODOODOODOOoOoooOoDbOo
oboooboooNOO NOOODOOoObuoobooboooobo
goboo

f:X—YOOOOOOyO200000000000000
00000y=f(z)=2?000y0000000000000
00000y=f(z)=+*00000000(00)0000000
00000 (000000)000000y=f(z)=2200000
000000000000000000000000000000
0ooooo

00000000000000000000000000000

gboobogbbogbboobboooboooobbooboo

1
goboboboobobobooboboboubiobdy=—
x

gboobobbobboboboo Ionoboobooboobo
O000000X={zeR|z#40} 0000000000000
gbbboooobbbuooobbboooon

002700 f:A—BOODO
Gy ={(a.b) € Ax B b= f(a)}

000 fO0000 (graph) DO O0O0OOODODODODOOOCOOOOO
O00D0O00DOOoO0oObo00oO0o0bOOooDoOoDD A,BOOO
00000000000 0A=B=RO0OO0OOOOOOOOO
gbbbooobobboooobn

U0 28 J00d0d0dboobuooooboboboooouobobobuo
O0O00b00ooboOooobd e, b0 e<b00OD0OODOOO
00000000 {zeR|a<z<b}000000DOOOOO
D00000[e, b]000000000000 {zeR|a<z<b}
O000000000000000O0(e,b)0000
O0000000{zeR|a<z<db}000{zeR|a<z<b}
D0D00D00D000000000(qb)000 (a,b]00
goboooooon

e N

gooo
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coU 000000000000 0O0OO[a,00)000000OO
gobboboooggn

[a,0)={zeR|a<zr <0}

D000{zeR|a<2}000000000[a,00]000 000
0000000000000000000

0 2.9 0
(1) f:R—RO f(z)=2?000000000000000 R
0000000 ROOOOf(1)=f(-1)=10000000
0000000200000000000000000000
;00000000
00 f(R)0 00000000000

fJR)={yeR|y>0}=10,00)

000 (—»0000 212)0000 f00000000
(2) f:R—1[0,00)0 f(z) =22000000000 f0 (1)0O
f0000000000000000000(1)000000
0000000 ()0 f000000000(2)0 0000
000
(3) f(x)=220000020000000000000000
00000000f0 f:[0,00)—ROO0D0000000OO
00 f([0,00)) 0000 [0,00)0000
00000f0[0,00)000000000000000 (—
0000 2140000000000 (0000 2.12)0
(4) 0000 f(z)=+2?0000020000000000000
0000000000000000/f0 f:[0,00)—[0, 00)
0000000000
(3)00000000 0000000000000 f£([0, co))
0[0,00)00000000000000000C
(5) 000000 f(z) =220000020000000000
00000000000 A ={zeQ|z>0}0000f0
fiA— ADDDDODODOOOOOOOOO fOO000000
00000 (—-0000 2.12)0

0Dooo 2.12

()0 29 (10000 fR)={ycR|y>0}00000000
000000000 f(z) =4z 0000000000000
000
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(2)0 29 (3)0000 f([0,00))=[0,00)000000000
00000000 f(z)=4/20000000000000000

(3)0 29 (5)0 f00000000000O0V200000000
0000000000

0000*2.13 0000212000000y =,2000000
000000000000000000000y=+/z00 2.9 (4)
000y=+200000000000000000000000
0000000000000000000000000000 f(z)
0000000000000000000000000 y=+z0
000 f(x)00000000000000000000
0000y =z000000000 29 (1)0000 f(R) =
{(yeR|y>0}000000000000000000000 ([a,b]
00000000000 f(e)0 f(b)0000 000 a=f(c)0
O0c(a<e<b)00000)000000000

0000214 f: A—BOOODO (Va0 € A 77 <
2y = f(z1) < f(z2)) 0000000000 0000

00 210 f:A—BUOOOOOOODOOBOOOOODOBOO
000 f(e)=b000 ADDD «0O0OOOODODODODO

00 f:A—BOOOOOOOBOOOOOKOOOO0O0O0O
a€e ADDDD0OO0ODOb=f(a) 0000000
f0000000 f(a) = fla) =b0000000 ay =ay O
0000D0000000000f(e)=6000000 «0000
ooooo .

f:A—BOOODOOOOObe BOOOOOb = f(a)O
O00 ecADDODOOODOOOOODOODOOO fODOO
(inversemap) 0000 f':B—ADO0O0OO0OOOOODOOOO
fl@=bOODf'()=a 0000000000

flof=ida fofl=idg
ooooon

0 2.11

(1) f:R—(0,00)0 f(z)=200000 f0000000 (4
0000)00000f0000 f':(0,00)—ROO0OO
00000 fY(z)=log,20000
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(2) f:[0,00) —[0,00)0 f(z) =2?00000000000
000000000 f:]0,00)—[0,00) 0000000
00 f'z)=,/z0000

(@fﬂ—gyg}—ﬂ—lej@ﬁ:mmDDDDDDDDD
DMDDDDEDDDDDDDf*ﬂ—Ll}%[—%fg}

00000000000 f'(z)=arsing 00000000

00 z0000sin"'200000000000000000

000000D0D0000000000000004000

gooboogooobooo

0o0O0215 f:A—B,g:B—CO0O000O
(1) fO ¢g000O0000gof:A—»COO00O00DO0O0O0O0O0O

000
(2) f0 ¢g000O0000gof:A—»CO0000D0O0O0O0O0O

0oo
gbobbooogbbbuooobbbuodonobbogo

O0o0d0216 X, YOOOOOOf:X—YDOUOOOA, BO X
OO00000000000 f(A)={f(a)J]ac A} ={beY |dac Ab= f(a)}
goooon

(1) f(AUB)=f(A)uf(B)ODOOOOO

(2) fANB)C f(A)Nnf(B)ODDOOOODO

3) f(ANB) = f(A)Nf(B) 000000000000

0000 (1), (200000000 2600000000(3)00
0000000 ANB=@00 f(ANf(B)£00000000

godd
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